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3rd Semester Examination
COMPUTER SCIENCE (General)
Paper - DSC 1C-T
Operating System
Full Marks : 40 Time : 2 Hours

The question are of equal value for any group/half. The
figures in the margin indicate full Marks. Candidates are
required to give theri answers in their own words as far
as parctiable. Hlustrate the answers wherever necessary.

Group - A
1. Answer any five questions : 5x2=10

) What do you mean by time sharing operating
system ?

b) Write the functions of linker.
¢) What is Semaphore ?
d) What is critical section ?
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€ 3)

Process CPU Burst Time (ms)
Pl 5
P2 05
P3 07
P4 10

Draw the Gantt chart for FCFS and calculate the

avarage waiting time and tum around time.

¢) Given memory partitions of 100k, 500k, 200k, 300k
and 600k (in order), how would each of the First-
fit, Best-fit and Worst-fit algorithms placé processes
of 212k, 417k and 112k (in order) ? 5

Group - C

3. Answer any one questions : 1x10=10

a) Write short notes on the following : (any two)

2x5=10
(i) Content of a process
(iiy Deadlock prevenﬁon
(iiiy Safe and unsafe states.
(iv) Content swilching
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